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OLD PAPER RPF SI 28/03/2019

A person completes his journey in 8.5 hours. He A sp eod| = __3_

fixed the first part of the journey at a speed of ’)(.-I—a
20kmph and the second part at a speed of 30 _

kmph. Find the total distance traveled by him. (in ] m =29
km) =P

Ush SATh AUAT ATAT 8.5 U | Ut At 21 IEA AT

5 wer v QOB wr w Ay d sz A= S x €

amr it GO) Rt w52 it if & e Reeem 3 - 24 x a7

T a4 <ht 7T THer gl 7 shiterg (FeRwt ) 12 Fo =20Y
(X1 204 =

(B) 226

(C) 214

(D) 224
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On the compound interest, a sum is trice to the original a.b 4
amount in 7 years. In how many years will it be 27 times its

original amount?

Tshdfg SATH UYL, Uah 19T 7 TGT | Het AOT & 7T 21 At 2.
FoRart o & g SOt e 9T o 27 TAT BT AQT?. o 57T

(A) 23
(B) 22 / E

V4 3
Wl ] X 3 27'—‘3

(D) 24 -9
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One item is Rs. 365. At the same price of Rs 701 in selling In

the case of profit, 60% of the profits are lost. Find the
purchase price of that item? (In rupees)

Ueh I 365 TG i 2| T F 701 FUI & AHE Tod W ATH &
TR |, A9 T 60% ST ATAT 8| 39 T%G & HA 9ed 719
it a? (599 W)

(A) 491

(B) 481

(C) 461

(D) 471
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he number of workers working in a farm is increased A A+ U+ 2(__3
by 17% and their salary per person is reduced by 17%. B a \0D
If doing so results in a decrease of x% in the total

amount to be spent on salary, then know the value of x? - W -J?{ -I-(|7)§ '7)
Ueh WA | SHTH St ATeT ATHeRT shi TEAT | 17% 3ht afg loo
FIdt & 3T ufar safvs 376 IaT 0 17% hi St gt gl afe 259 4

T A A W e S A A FA A E x% @ et -2 9.897.
ST ZIAT 2, AT x T T T A2 loo = ——
(A) 3.09

(B) 2.99

(] 2.89

(D) 2.79
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Wlf x = (0.6755555 ..., then find the value of a different number

} of x?
afe x = 0.6755555 ..., @l x chl Uah (9= H§&AT & 99 A
Ftr — @
(A) 618/900 X=0.675
(B) 608/990 _ 675-€7
(C) 618/990 : - 608

\J& 608/900 qoo 1% ¢
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There are 10 bangles in a gift box. The average

weight of the first 4 is 74 grams and the average q X714+ 6X15
weight of the remaining 6 bangles is 75 grams. Find |0

the total averag.e weight of all b?ngles (in grams)? 29¢ + Y50

Ueh fTroe atea § 10 STt Fdt 81 T8t 4 1 3taq o

74 TATH 3R W 6 ATSTAT h1 ATHa T 75 TTH 21 Tt 10

TTSAT T Het HTET T (AT H) 7T hitod? 7_(4_6__-,\{.6
(A) 72.6 0 ——
) 74.6

(C) 73.6

(D) 71.6
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81815 divided by 9 what will be the remainder? 56 — Re. a2

81815 =kt 9 & farutiora fomam =T a7 Srower o=t T2 q

WA 5 (]

(B) 3 8'&‘5 ® ?RQ.—)L

8 23

(D) 4 —TRC—@ 385"{—?2-;% Re > 2.

qYSES 3\—-'@5\/
\*\/‘M/\i/ q
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The length of a floor is 125% of its width. If the floor |l = b
area is 320 cm2 , then find the length of the floor and (26 ° |0D
the sum of the breadth? (In m) 5 -y @

Ueh HIWTeT shi oiaTs STeh! GISTE T 125% &1 afe &I

T &%eT 320 T 2, ﬁwﬁaﬁmﬁaﬁtmam/ /
TR ST hifer| (Wi 7) 6 %
(A) 32
\(JB136
(C) 38

(D) 34
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After two consecutive discounts of 10% and 20%, the sale
price of an item is Rs. 1,980. Is there. If the purchase price of 21 50

the item is 50% of the market value, then its purchasing

value should be known? (In rupees)

10% 3T 20% hY 3T SHATTA < o 13, Ueh IEd T (956 9od

2
=1375

a1 IEHT 3HT Hed 1A EHT ATR0? (B9 )
(A) 1,575 ’{gd ~
X €d -
(B) 1,675 x 4%7&" re?
(A1,375 d
(D) 1,475 X=27Ss

Fow el
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Find the next number in the following series:

mmﬁmmmaﬁﬁm
18, 43, 93, 193, 393.?

%
AV 795 %
(B) 791

\(&1793

(D) 797

G.s‘/
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A shopkeeper sells an item to Rs 1,710 By selling it, it receives
14% profit. How much will the half of the purchase price of
that item be equal to? (In rupees)

Ueh ISR Ueh & I 1,710 $99 ¥ S=@T 8, 39 oo+ W, 30
14% T STH TTAT 81 39 TEd o 3hd Hod a1 ra e feraan

AT (59 W)

(A) 740 47 =1710

®) 770 17.= 148" =15
(C) 760 Ty

M750 '007 ‘@
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The ratio of milk and water to a mixture of 189 liters is 3: 4.
If this ratio changes to 3: 5, then know the amount of excess
water mixed in it later? (In liters)

189 witex & faowr & gu 3R uwt 1 o 3: 4 . afe @
HIUTT 3: 5 W I ATGT &, a1 a8 H AW fHerg T srfaiew

gt hl AT AT 2 (FHA T H) D p
(A) 31 189 8 Y
(B) 29 | >|K=@
(C) 25 1R = 189 3. §

0¥ 27 |R:L89f.2
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There are different types of old coins in the ratio of 3: 5: 7 in 2646
a box, whose values are Rs 1, Rs 5 and Rs 10 respectively. If %H—
the total value of coins is Rs 2,646, then Rs 10 What is the IR SR 10k

total number of coins of value? 2 S @
U 19 | 3: 5: 7 % AT W AU THR & WA TS 3 925 7o
Rt o shuvT: 1 599, 5 599 3R 10 $9F 71 afS feent @ =qR

HeT Hed 2,646 I &, AT 10 TIT Hod o [Haehl hi hot AEAT

FTE?

189 >89
(B) 195 —
(C) 193

(D) 191
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A train length of 165 m crosses a bridge at a speed of 54 2

kmph in 33 seconds. Find the length of the bridge? (in m) 24 % :c:’.
165 Wiex shi Uah ¢ 54 Tt ufa d@¢ &t T & U 9e7 &t 33 +&
_HEhS | U AT 1 o7 hl oTvaT8 AT shitera? (Wiex ) = [Sm/_s

(A) 340
\(B7330 d = SX{' -. A

(C) 350 [6S+P = |9 %33

(=
=330
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A person rides at a speed of 20 kmph and the college reaches
9.5 minutes from the hostel. If it used to run cycling at a
speed of 24 kmph then it would reach 9.5 minutes early. Find
the distance between the hostel from the college? (in km)

e st 20 Redft ufy 62 At wfa & aamt @ § oi se
BTEEE ¥ 9.5 e i gt W ggear 71 3R ag 24 fot afq
U¢ S TR | ATgfeher Termar of a1 g 9.5 fime uger wdw
SATAT AT| et | BIATATH o At hl g 71 shiraa? (Feet )
\A7 38

(B) 43

()39

(D) 41
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The average weight of 93 notebooks kept in a box is 9.3 kg. If
there is 1 notebook in the box and its average weight is 9.4
kg, then you should know the load of new notebooks. (in kg)

Ueh St § Tt 93 FAreaeh w1 itEa awiq 9.3 fRemm 71 afz
ST | 1 A1eTeh & AR FHRT AHa a9 9.4 fohetmmm 7, &
HATYhT 73 ATCT T AT TaT g1 arree) (et )

(A) 18.8

(B) 18.9

(C) 19.1

(D) 18.7
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The amount of compound interest and simple interest
received in two years on the same amount is 234 rupees. If
the interest rate is 6% annual, then calculate the amount
invested (in Rs.)?

AU [T W T T ATH Tehdlfg SATH T TTLRUT ST h
T 234 TUA T, T2 ST T 6% ATTuk g, a1 Far v w2 aivr
(FGY H) hl TOET Hifea?

(A) 65500

(B) 62500

(C) 65000

(D) 60000
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An amount was divided between Ankit, Babu, Kristo and
David in the ratio of 5: 4: 3: 2. If Kristo received more than
Rs 117 from David, how many rupees did Babu get?

3ifeRa, a1g, TRt AR ST F A TH AT A1 5: 4: 3: 2 &
s & e o mar om af fret @ SR E 17 50
o stfere w7, @t a1g ot fohae saa foer?

(A) 468

(B) 464

(C) 466

(D) 462
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The average of three numbers is 243. If the ratio of first to
second is the ratio of 2: 3 and the ratio of the second to the
third is 3: 4, then find the second number?

A HEATHT T HHq 243 B AR @A B A wT AU 2: 3 7
AR At | At T AT 3: 4 7, T gEd 6T 7 it
(A) 84

(B) 81

(C) 82

(D) 83



